
�����������	
������

��������	
��
������
����
�
����������	
�����	����	�

�����������	
�
���	���
���
��������
�
���
��
�����
���	�
����� �

	
���
���
��	
	��������	�

��������
���
��
��	
	���������	
	��� �

��	
��
��
	
��
�����
����

������

���
�����
�����
������

������

���
��������
�������

�����
�
��
�������	
�
�������� 
����	
���!��

������ 
����	

∀�	���
�
��#∃%∃

mailto:fernando.amorim.mello@usp.br


#

��������	
���

&��������
	�
���������
�����
�����
��������
����
������
�

����� �

�
�� � ����
����� � �� ��� � �
��� � ����
��� � �� � ��������� � 
�����	��
��

��
�
� � � � �
���	!���
�� �∀
� �  �� � ��� � 
�
���� � �
��
�� � ����� � �� �

	���
�����	��� �����
�����
�
���
�

������
��#��

��
�	��
����
��� �

∃�������

���
∋�

����
�(
�)�
��∗
�	��(���+%,−∃.

∀�	
����
�)	��
�

�
������
�
��∗
�	��(������������
������	��	����&∀������	
�
��

/�	����0∋������	�1���
���	����
�
������23����4�������������	���
�5���	
�
����6�����

��


����	
� � 
� � ����
����
�
�� � 7��	� � 	�����8
4 � 
����
� � �������� � 3����� � �
 � 
����	
 � 9�

�������
�
������	���
�
�4��������	�:;���

�
����	
��
�������	
�9���
�������
������<���


��	��:;����������	����
������
���	
�
�
�	��
�

∗
�
������
�4�
��
����	
��
�	���
�5��
�
���������
�
�����
�	��������
��2����

���=��������>���
���%4���<
����

��
����	����?�	����	������������
�
��
���
��	�: 
�


��	�	��� � <��≅
��� �
�����
����	
 � ������	� ��
� ��
��≅
�
�����	� ��
�
�����
������	
 �
��

�
��� � 	���
�
2��� �� �9 �)�
��4 �
 � ��2��	�
 �
�� ���2����
� ����
� � �
	
2�6���
� ���������


����2�: 
��������������∗
���
������
�4��Α��4�
������	���+
��������������	�:;��Β.�
��

��	

�	������: 
����
���	����������
�����
��������)	��
��

∗����
�
���
�Χ��������8��Α��������
��:;���	���
�02�������2��
��
����
���2��

�

2���
���0�12������

��)���
�∆∆�������	�����
����2����	
�
���
�����
�����
����	��� 
�

9���
�������
��

���
��≅
�
4�	��

�
����
����
�����
���

�����&�
����3�����

������
��


�������	����Χ�: 
�������
��
��≅2��
��
����	��	����

��

���
�	��	
���

�������8
�

�

/�	�

∋#� � /� � 
�	��� � ��������4 � ����
� � � � ������
���� � �� � ����:
 � ��0���
 � +�≅���
 � ��

��≅Α���
.Ε4 � ��� � ������ � 
��5���� �
� � ���2���

 �Α�� � �8� ��
�������	���� � 
����� � � � ��	
1

������: 
�����������
��
����Φ�

��2�
����Χ�: 
�
��������
�������	�������
��2�: 
�
������
���Γ4���������

����

��������������: 
��
�
�
����	
����
����	���
��
����	��
������
����
�
��8�����Η������

�
��	���: 
4 ��
�	��	
4 ����2���
�
��: 
�������	��� �
���������4 � ���
�8����

1
��
�
�

%�Ι8����28	�	
�������ϑ��
�����	�����������4�∗�����
2�4��
���Φ4�
���%Κ,∃�
#���	�������������	�����������	�	�4�%,,Γ4����ΚΦ�
Ε�∗���Λ����
�
����
��
����2�

4�����������
�	�������������������� ��	��	����4�#∃∃Φ4���Φ∃�
Φ�∗���∗����
�
���
�Χ�4��
�����	�
Γ�7�������	���������

�≅2��Χ4 �!����∀����
������������	������
���� ��	�������
������������#����4�#∃%∃4�
��%%Η�
Η�∗
�
�
�����������Χ�Λ�Μ
4���	�2����Α������Α���� 
�&
����8
��Α�������
���
�������8����	�����	

������
�����
����
������4�ϑ��?�����	���ϑ��
����	����
�����
����
����������
�
�ϑ����
�2��
�
�8������������/�	�

�
�������8
∋��
+����	���������
�	���������4�%,,Γ4����%−Γ�.



Ε


����	
����������	���?��	��	������	�≅����
��
�����8����
������

: 
�
��	��

�	����������

Α�����	
	���
�
��

�����	�����<��≅
��
���
�������	������
������ 
���������Α������������


������	���
���������
��������%
&∋4��
�
�
���������
���
�
��
�����

�	�����8
�

∃��%&��	�����	�������������	���������	�	�∋�������	�	������	�������	����&���

 �����	���������

∗
�
�<6�������	�

4���
������ 
��������
������
�����: 
��
�	��
��	��

�
����	
�9�

�������
�
���
�
����
�8���

�8
<�����
�	��������
��2�����
�����

��)���
�∆�∆4��
��
�

�
	0��
���	�2
�
��=��������>���
�����
����
�	�����7��	�4���2��
�
�1������
�����������


����� �
�
 � 
����	
 � ��0���
 � 9 � ��
���
����
�
� � 8�����4 � �������	� � � 
 � ������ � � � ���

�
����	
 � ��	��Α�� � � � &�
��	��6���∋ � 
� � �������
�
�4 � ��� � �
 � �
��
�	
4 � 
�2��
�
� � ��

	���Α����
�
�Κ�����������������
��
��
�����
������	
�
������
����
�
��8������

/���
�������	�: 
�����	����
����	
�4�=�������Λ����
�����������
�4�������

��



��)���
�∆∆4�Α��	�
��
�����
����
	�: 
�9 ��
��
�(� �� ���
� � �
&�,��. ����
�����������

���������Ν � �. ������� � 	�������
�Ν � �. ��
��� � �����Ν � 
.� ���
��
��
�
���� � �
 � ��� � 
���� � �� �

��������()∗��

∗
�	���
��������	� � � ���
����4 �Ο����� ���
�Π� ���� �
���� 
 �

 ��
����	
 � ���

����
��4 ��≅����
� � �
��3�	���
�%%� �� ������� � ��
���
��� �
���� � ������	
 ��
 ��


 �
� � ����

��0���
�

���
��≅
�
4 �
��� �
�
����������� �Α����
���� ��
�
�����8����
�Α���)%#4 �
����

������

4��
�	��	
4�
�
����	
�
��Α�����	���� 
���<�������
������������������
�4��
������

��Χ4�	��	�����
�����
����	
�9�
���
�
��++
),������
�4��������	�

4��
���?����
4��
�
����	
�

��Α���
�	������
������
���:;�� �
���������	5����� ��������	���9�������
�������
��� 
�

��<����?�
�	��%Φ� ������Θ����
�
��	��	
�
�Α�������Α������
��	������∗����
�
���
�Χ��

−��������Λ�
���
�4�(
�����	���������	�	�������������4�#∃∃,4����#∃�
Κ�(�
���������
4�(�����	�����������4�#∃∃Κ4����%%−�
,�����������
����≅����
��∗
��
��Λ�Ρ4���
���
&��������������	
�������
��+�����.�����	���
��Α�����86����
����2����

��������: 
�
����
���Χ�: 
4��Α�����6���4 ��
�	��	
4��
����	�	�	
�
������
�������
�
��������
��∗���� �%
&� �7��

�����: 
�

�>���ΣΤ��Λ�Ρ����	�
���ϑ4�&
�������&
������
�&�����
�
���	(��
(�������
���	∋�
%∃� ������ϑ4 �!��������� �����������4 �>��Σ���ϑ4 ��
�� �ΦΚ4 �%,Η∃� �∗
�
�
������ �∗���2 �Ι��
���4 ���	�� �
����	
��
	�����������
��2��������
	�: 
�

�� ��
��≅
�
���
�	��� ��	���;���

�/�	�

� �7
�Α�������������������
�	���
��	��: 
�������	������4�
���	
����������&���	8��!��	�
��	�	���	8���Τ���
���28	�
��������ϑ��2����	������	����	�	����
���8 � �� � �
��
��	�
��� ��8
�	 � 
� � �
�� � 8�28�ϑ � ��<���
�� � 
� � 
�������� � ���4 � �
��
��	�
�� � ��� � ��� � ����
����
���
���	�
� � ��
�	 � ���	
���� � �� � ���
�	 � ��ϑ ������� � 	8�ϑ � ������� ���28	 ��� ���
��	�����∋ � +%��
� � �
���� � 	8��
�
���������Χ�	�
��
������
�������
���	�
�4�#∃∃Ε4���%Κ−�.
%%�∗�����������)�����∗�����������∗
�Π�����>Υ8���4�%,Η−�
%#
� �������

1��4��
�	��	
4�������������
�����: 
�
��
����	
��
������
����
�
���������
�����
���
����
��∗���
��

�����	
 �>�		��� � � &�. �
� ���0���
� �
� �����
������� � +
��
��2��6��
�.4 ��?��	��	�� ��
� �������	���Χ�4 ��
�
���	��
8����
4��
��
���������	
�∋�+���	��������	�����������	�	�4�%,,Γ4���%∃−�
%Ε�����
�(
�)�
��∗
�	��(��4���	�������	��������� ��	�	����������
����	���
�
�4�%,−∃4�����#−�
%Φ�∀�Α���)�������

����
���2��

�≅	���
��
���� 
�
��>�		����&�.���
���������	���9���������
<�:;��������
����

�
�?	���
��+������
���
�
���	���
�������
����4�
����<�4��������������
�����	
��
�����
���
�
�.�∋�+�
����	�.�



Φ


�������Α��4������	���
�≅4�
��	��2���1���	���)����������������
��
��≅�	���%Γ���������
�
��

+����������4���2�
���

�����	���
�
����
���2��

.�����	���
�
��+���	��	���������	���
�

�≅����
 �

 � ��2��

. ���������4 ��
�	��	
4 � � � ��� ��������
�� � �
�
��
����	
� �
��	��	
�%Η4�

�
��3�	���
������	���
���
��≅����
�
����
�������
�%−��

����	��	������	�4�	��1������
����	
�+�����

�
������
����
�
��
����
����
��≅
�
4�

�
2
4�����
���≅����
.�
��	���������
�������
��������	�
�4���<���
�����
�
��� 
������ 
�


��
�	������

��5���	
��
��������
�����������
����	����	
�+�������
�
�.4���<�������

� 
��������
�
��
����������	5�����������
���:;����
������
����2�
������5���	
�≅�	��
4�


��&� 
����������	�

�������������	���
�	������
�	�
�∋�+��	���
�
�.�%Κ

�� � �
:;�� � 
� � �������
�
� � � � ��	���
�
� � �Α�� � �?�
�	�� � ���
�:�� � 
 � ���6	���

���<�	��
%,� 
��	�� � 
����	
� � 
� � ����
����
�
�� � ���
� � Α�� � ������	����	� � ��
��
��	�4�

�	��	�� � � � ���<�	���
�
� � 
� � �� �
����	
 � 
� � ����
����
�
� � ) � 
 �����
 �Α�� � ������	�� � ��

�����
�
� � 

 � 	�	���� � 
� � � 
 � 
����
61�
� � 7
 � ���
 � �� � 	���4 � ��2������ � Α��4 � ���
���

�
�����
��
�
����	
�
��Α����
����������������
��� 
���<������
�
�4������
�
�
��Α���

�
���� � ���
���:;�� � ≅�	���� � � 
 � ��<�� � ��������	� � 
����2�
��4 � �

��
� � 
���
��

��2�	������	�#∃�
��	��������
�
��4�
�<�	
�

�	0���
�����2����

+� �,
������������� � ��&�� � � � �
��	����������� � �����������∃�� � � � �� � ������

	��������	�����������������������
���������
����−�����	����������������
���.

%Γ�∀����	�4���Φ%�
%Η�&7
�
��	��	�4����	)����
�&≅�	��
∋�������
���	���Χ���	����)�����������	�

������
�Α�������
��	������≅���
���
�
�����

�∋�+∗���
�����Χ���2���4����������
���� ���������
�������	���	������������������	�	4�%,,Γ4���ΓΚ.�
%−�∗
�	��(��4�
����	�4���ΕΕ�
%Κ����
�4����Φ∃�
%,� ����	��������	
4����������∗����
�
���
�Χ���&7
: 
���	�����Α�������������	������������3�����
����	
�
��
��	���
���≅������	��������
�
���
�
����	
����<��	��
4�
����<�4�������������	3�	��
��

���
���?�2���
��
�	����
����
�������
��
�	���	�
��
��	��
�
����2�	��
4��
���	������	��
�	������

4��
�����
�������
�
��
��������
�
�
��	�������������������	����: 
�
����
��
3�������
��	����4����
�	����
��
�	����	
�� 
����������Α��.��+
����	�4�
��,Ε.
#∃� &��	�	�����
�
��

�
����	
 �� 
�)�
�<�	
�
�� 	�������� 
� �∀����<�� ������2���� 
�����������

����� 	�	�����

��2����4 ��������
�
����� ��	���
�
�� � ς���Ω ���� ��?�����;�� �

 ���
 �

 �
����	
 �
� �����
����
�
���

�������
��
�
��4�
���
��������	�
�4��
������������:;���ς���Ω�Ο64��
�	��	
4����	���������
��
���
������
�
�������2����

����	
� � 
� �����
����
�
�∋� � +�
?��� �∗��

�
 �>��������
 �>
�2��4 ��������� �	� ����������	�	� � � � �
��������

�����	�4�#∃∃−4����%#∃�.
#%� ���

�����	� � �� � 

�	���� � ��)���� � � � Α�� � �����������
� � �Α�� � �
�
 � ��� ��������	�: 
 ����� � ����� � 

�
�
����	����	
����
���

��
�5���	
�

�
����	
�9��������
�
�4������������	���������	�����
������ 
��
�������
�
����	���
�
2����������)	����������
�
�����Α���
��
����	
������������ 
���������
��	
����
���	��
4������
�

����	
�
���
�	�
���

����?
�
������
���:;�������
����
���
������Χ�
�����7������������
��=���
��Ξ��8ϑ����8
4�)�
&
�
����	
�
��
���
��≅
�
��

���
���
��

���	
��
�����
���: 
�����
������0���
���4��
�	��	
4������	���
����������
��� � ��
 � �
� � ���	� � 
�� � �23����� �
� � ���
���: 
 �Α�� �����<�� �
� � ����
� � 
� � 
�

�Ν � 
����	
 � 
� � �
�	�
��� � ��
������
�
��

��
�

�4 �
������
��������
�8������	
 ��
�����	��
��	������
����
���
�Α���
����������:���
��
������
�
����
�����4���
�Π������
���
�≅	����∋��+�����������	��	�������/��������	�	��/��
−�	��������#������
�

����	
��
�8������
�	���������
�
�����
��6	��������	

�	������: 
�
��
�

�4�#∃∃%4���Γ,.



Γ

����
��: 
�
���	���
�
2�������
��6	�������������)	���������	
����

�������6������

��
������ 
�

���
����	
���������

���
�	0���
���	���
�##��∀�������:
���
�����

�����
��

��
��

�������
�	���1�������
��	��	����
��: 
���
����
��4����?����
�
���?���� 
�


��/���0�∗4������
���
��: 
���
����Χ������
���	��

���0���
����6��
�
����
�����
����


���
���	�

����#Ε

�����≅��
4�8��������������: 
����������
���������
�
���
���
�
����	����	4�	��

����

���	�������?����2���: 
���
�
��
�����
����
��

����#Φ�∀��
��
��
�:;���Α���
�����8��
�

���6��
�
��&����������	��	
���
�����8
����	
���������
���	��
4�Α���

�� 
��������	��

���
3���
4�
�Α���
����	
��?�������������	��
���
�	�
����

� ����
����������+
���� 
����	����	4��
��
��	�Α����
�����:
��������

�
�����
���

�
����� ����	���� ����
 ����

4 ���	�������� ��
��� � �
���� �
�� ��	��� 
 �9 ���
� ������
� ���

��	���
�
��

����
��≅
�
���7 
����	��	�4��
�	�

4�
��������
��: 
�Α������	���������
��

���6��
��
����	����	4�������Χ�Α�����
����������
���
������Χ�: 
�
�����
���:;�������
����

�����
�4���
����
��	����	��

���<��	
���Α���
�2���������	
�

/�	��	��	
4 � � � 2���
� � ��	���: 
 � 
� � ����
�2�� � 	��Χ�
� � ����� � ��
�� � �
����� � �
� � ��

����	����
������������
�����
�

�Α����
���0���
����6��
��
�	�
�����
���
������Χ�: 
�
��

���
���:;�� ������
��#Γ� � � ���� ������	
 �� ���<� ���������2���
�
�����2
�4 ���<� ����� ���

2�������
�
��

�����6��
��
����
���������	�1��4��
�)�4�Α���2���
�����	��
���������
�
��

�������
� ����
� � ���6��
� � Α�� � ���	���2�� �
 ������
 �2���� � �
� � ���� �
�

� � ) � 	���)��

����	���4 �������Χ�Α���
���0���
����
��	���Χ�

�<6����	�������
�	����+��
��

����
��

�����:
.4���Α�����������������
�����
�
���
�	��	
��
���
�� 
#Η�+���	�����Χ���������
��

���������2����: 
�����������4�
���
��Α������
���1�����������	
�����
�8������	
.�

7
�Α���	��2����	�	������2���

�	���4�<6�
�������
��Α���
��
������
��2�����2�
1

��? ��3�����

�
�����
���

�����
� � ��2��� ���������	�� ����?�
��: 
���8���4 �
����<�4�

##�&/�������
���
�
��
�
����Α����
����	6�	
���

������4�������Α���������
�����0�4�����

���ϑ�������Α��������

���
���8����
������
�����

��
�����	�����
�����
��������������ϑ�
���������������
�����
������������ϑ�
�2���Χ�
��4�
�����2�����	���0��<��≅
����
��������
��6	���������	�������	��)�����
��	���
�∋�+����Χ�Λ�Μ
4�
�����	�4����%−Η�.
#Ε��
������=���#�∃4�����Ψ8		��ΖΖΡ������
����
���
����Ζ#∃∃ΗΖ%∃ΖΕ∃Ζ
1Α��1�1Ρ��1#∃[Ν�
Ψ8		��ΖΖΡΡΡ%��
�8���
���
����Ζ�
�8�Ζ���
���	���Ζ��	%#Φ�#∃%−Ε��8	��[��������

�����%Γ1∃,1#∃%∃�
#Φ�&�	��	�����	84�	8����	����	�2������
���
�����2���	�����

���
�������8���
�������ϑ��Ι8���Ρ������������	�Ρ���
8��
4���
����	��
��2�����
���2�4��
����8���
��
��	8��7�	�	
�����
��	
��
�
���
�	�
���
����
�	8���
���Α������
��
�	� �����2�8��
�Ρ���	8�	��
�	�
��Ρ��������ϑ��?������
�∋� +Λ�Ρ������Λ����24 �0
�
������ �	���� � 	8����	��
� �	8��
�
��
���������
����	�
�Ρ
��
4�#∃∃%4����%Φ∃��.�
#Γ�&∀��	8��Ρ��4�	8���
�	��
���������
��	�
���
��	8�����	���Ρ�ϑ����������
�������	Ρ
�Σ��2��������	�
���
���2��
�
	
�8������
�����8����Ρ8�	����������ϑ������	�����
���	�
����ϑ
���	��	�����
�������������ς∴Ω�
������4����	8�������

��ΙΡ�		��4���%Φ∃1�8����	���������
2���
�	�Ρ8�	�ϑ
������	8��Σ��2���
�	���28	�	8�������	�∋��+�
Ρ���4�
�����	�4�
��−,.
#Η��
��������4��
�Ρ��8����	
�&	��
��
��∋�������ϑΒ4�����1�����2�&���4���	��#∃%∃�



Η

�Α���� � ���Α�� � 	������
� ���
����
 �
����	
 � 9 ��������
�
� �
� �
����2����������	5������

≅�	�����
�������
��≅
�
�Α���Α���#−��Ι

����4�
�2���
��������Α������
������
������ 
�

�	�����
����
�	����
�Χ�������	
�9���
���: 
��
���	6����

���	������

��
�����
����	
�
��

�������
�
���7 
�86�	������
����
���

�����������������
�4�����������0���
�Α��4�����

�


���������≅	��
#Κ4�
��������
��
���������6��
��
�	��8�������
���������	�����Χ���
�����6	���

��	������	� � �����

� � �����4 � �
���
������
� � �
�
 � � � �?����� 
 � �6?��� � 
��

��	

�	������: 
����
���	������	��������?�
��: 
��
���	6����

�����6��
�������	����	��

�����Χ;���
��	�����Π���
4�������������	����	���
��<
����#,4����
�	���������
�

������2���
�
��

����:
���
�������������
���
��Ξϑ2���	�>�����4������	��≅�	����
���0�1

�

����
�
�Ε∃�����������
��
��0�
2
�Α���

����
?���
�
�����	������
�Χ�������� 
�Α������
�	�2��
�
��� 
����	����	����
��
86��	
 � �?������ � /�� � 	���)� � ��	������� � 
 � ��
� 
 � ���� � 	

�� � �� � 
�	����
��
?���
�
���Ι

����
?���
�
����	6��2
����
�����	��
����
���������)��	
����
���8������
��

��
�
����
?���
�
�����	�����Ε%

������
����

����
����

��
��0�
2
4�
���
����
�
����	
1�?�
��: 
��
���	6�������

��	����	��

��	�����������: 
��
������	0�����
������Α��
�Χ��
�����<6�������
���Ο6����

��	��
����	
����	������
����	�

�
��
��������
�����
�����	������
�
���
����
��	���
��

��
� � ���� � 

� � ���6��
�4 � ��� � !	
��� � �� � Α�� � �� � �

���� � �
�
��� � �� � ��6	��� � ���

���������
�
���
����
���
	�
�����������0��������
����
������	�
�?�����9�	
�����������
��

Α������
����������
4����?����
�
�����������	���
��	���
�����&��
Α����∋�
�	�
�����6��
��


���
�	�Θ

����Α������

�
���
���� ���
��	� ��≅����
� �+���
� �Α����≅Α��

�. �
������

��������Α���� 
�����������5���	
�� 
����	�����

!�����Χ�+���
�	����	�.�����	
��

������
�4�
�����6��
��
��Ρ������	��1��4��
��4�

������ � ���� � ��
���2��� � �
� � � � ������?�
��: 
 � 
� � ��� � ������ � ≅�	���� � 7 
 � 
��	��	�4�

���
��Χ�� ���
� ���Χ ����� � ��� �
����	
 � 9 ��������
�
� �� ���Α���	
4 ������������	�4 �
����

������� 
��4���
�
���1����
�
��
����

��
��
�(��


	�1Ε#��
����	�

�
���
����������

�
����	�������

�	�������2�
1��? ��∀�Α���
�������
�4��
�)�4�)�Α���
�
�	
�����

?
����

�?������
��
�	����
������ 
����	��	��
���������
�����
��: 
��
���
�
�����
���
��≅
�
�9�

��0������������
�
�4������
�
����	
�
��Α���� 
���<����
��
���������������

#−��
�
��4�
�����	�4����%,Η
#Κ�/�������Χ����Ρ�Σ�4����������	�����������	�	�����
���
����4�#∃∃Γ4����Ε#Ε�
#,����Ρ��Σ4����2�����������ϑ4�3�
��∋��������∋���	����
������4�2������%
&�3�%��
��4���
(�/�
5����2
��
 �

6�
����78

�

	�9����
���(−4���������]�%∃1#,4�#∃%∃�
Ε∃�∗���#��
��: ��	����
���������2���
�
��

����:
��8����
�4�#∃∃Φ�
Ε%����
�4���Κ#
Ε#�∗���������>��>�����4�%�������������	�∀���
�������	Ρ
�Σ��2����	8��!��	�
��	�	��4�#∃∃ΗΝ�Ο��>�����Ο
����
4�
4�����������	�∀�∃.54�#∃%∃Ν����
Ρ���4�
����	�4����Κ∃�



−

7��������

�������	
��
��������: 
�
����	

�	������: 
����
���	�����
�����
�



��
����	
��
������
����
�
�����Α���	 
4���	��
��
��Α���������� 
�
��	��4�������	��

��
�
�4�� 
�������������
���
������
�
�����	���ΕΕ��
�
����	
�������������	��	
���������	��

9����3�����8������

���
��≅
�
Ν������?���≅��
4��
�)�4��

�����
�	������2������	�:;���

+�
��	�����
����2�	����.������	

�	������: 
����
���	������
������	����������������	
4�

�����
�
�����∗�������
���
����Α��

���������
��	��Α��4�������
��������	�4��
����
������
����8
��������	���
�
�ϑ����

����8
 �� � �� ���	

�	��������0� � ���
���	���4 �ϑ� ��
 � �
 ��� � 	��	
�Α������
���
�
���
������ � ������
�� � �� � �� � ������
 � ��� � �?�2������ � ������
��
�� � �
� � ���
��
	����0��
���
��
�	
��
�����6�	�������
�����
������
��������������
��0��
��
��	���
�
�������	�

���	���	
��ΕΦ�

��������

 � � � �
�����: 
 � ��	�� � � � 	�	��� � 

� � 
����	
� � 
� � ����
����
�
� � � � ��

��	

�	������: 
����
���	���4�2��8���
�:�4��
��4���	����Α������	��	����������	3�����

�


����	
����
��Α�������	�������Θ�����
�������?���≅��
��

∗
�	�

4����	
����	
�����
��	���
��
�	�6��
4�Α���8����

�
���
��: 
���2�	����

�

�?���≅��
�9���	���
�
����	�����	
����������?��	��	���������
�	���
�������
�4

������
����	������Α������
�����������������	���
�
�4�1�
�����
����	
�� 
�
�?��	���7 
��?��	�4��
�Α���	


�
����	
�)�����	
�
����	
�<��≅
��
Ν�	


���	
�
<��≅
��
 � ���;� � ���
�	� � �6	��
� � 7
 � ���
�	� � �6	��
 � ��	6 � 
 � ������	
�
&��	���
�
�∋Ν �������
����	������Α�������8��
��������������
�������
�4���
��	���
�
��
��?
��
���?��	����
��
����	����	
��	�
���
�
���)1�?���
��	��ΕΓ�

∗����
�
���
�Χ�4��
��������Χ4���
�;������2���	����6�����

7 
 � 8����64 � 
��
� � �
2
4 � �
��
�	����	
� � ��	�<���
��
� � Α���

 � �� � 	��	� � 
��
����	
�
����
�	������	
��
����
��2���������
�������Α���Α��������
������ 
�
�
����
����2�

���
����
����≅�	��
�4�Α���

�����������	5������

�������
��
��
�������
����<���	
���
������
����0���
����	������

����������	�������≅�����

�����
��Α���

�
�	�	������ 
�2���
����������
�
�������2��

�ΕΗ

�����	��
��Α��4����
��Α���
��
����	����	
�������	������	�<���
���
�
��
����	��� 
���

Α������
���������6	����������
��4�� 
����<��	���������
�8�����
�
����	
�������

��
�
�

���?��	��	�������	���
����	 
��∀��
�
�
��
���
������
�
�����	�����
�� 
�
��������
�
����	
�

�����4����������?���≅��
�����

�
��
����	
��9��������
�
������	���
�
����	����������	��

�������

��9�����
����
�
��8�����4����������
��≅����
���
��
��	���
����	
�4�
�����

1���


�����8��
	)	��
�&�)��
������
����
�
�∋�����Α�����	���
����������2
���?��	����������
�

����
�Α���
�
����	
�����
���≅����
�)��������	�: 
�
������
����
�
��+��
����
��
����	�.4�

ΕΕ�>
�2��4�
����	�4���%%Φ�
ΕΦ�6��	�������������
��	���������� ��������������������
	����0��
���
��
�	
������
����������	�������
�
�����
���
��6	���4�%,,∃4���#Η�
ΕΓ�(����	��	��	������������	�4��	�����⊥���
���

��2���������4�#∃∃∃4���%Γ,�
ΕΗ�����������������	�����������	�	�4����ΕΦ%



Κ

��� � �?���≅��
 � ���	� � Α��������

 � �
�
 ��������	�: 
 � �����
6���4 � � 
 � �� � ��������

�


���	����	� �9 �����
����
�
� ������4 ��������Χ��

4 �
��	� � �
���4 �Α�� �
��� � �� �
���
�8��

�
��	����
����2�	������	���������<�≅Χ
�9�����
����
�
����Α�������������

�
�	��	
4��
�����1����
�����	��Α�������	

�	������: 
����
���	�����Α���	��	�
��

� 
 � ��

�Χ � ��	��
���� � ����	� � �
� � 
����	
� � 
� � ����
����
�
� � �� � 	���� � ���
� � Α���

��������	� � ����	�:;�� �������������	� � �
 �
����	
 � 9 � ��	���
�
�4 �� 
 � ������� � ������� 
�


��	�Ε−�

7��4��������������
�������
�
������&������
�����	���������	�	�∋�������	�	����

��	�������	�����8�&��������
��

7 
�86��
�����
���������	
�

�������

������	
�����	���
��
�	�
����
��
�	�?	
�
��

�������
�
� � � � ������?�
��: 
 � �
���	6���� � ∗
��
�
��
� � �
� � �
�
��ΕΚ� Α�� � ����

��	�����: 
��Θ������
���	���
������	
4��
�����
�
�����	��:;��������	
���
��
�	����	
��



����6��
�
����	����	4����������
���	
��	�����
���
������������	�
���

����
�: 
�
������	��: 
�
������
��
��
�

�������
���:;�������
�������1��1���

	���)������0���4�	��

�������	�������
��
�
����������
�
��
����
��2�: 
�
��
�

�����

���
����	������
��
�	�
���

4�����)�����

�/�	�

�����	����������6��
��
�Α�������2���

�
�����������������:�����
������	�	���

��
���������<
�9������	��: 
�

���<��	
�

⊥≅�	
���

�≅2��Χ��
�
���4�����������	����������

������	
4�Α����


 ���
����	
4 � ��	 
4 � �
 � ��
 � 
� � ��
�4 � ����� � 2���
� � 2����	�� � 
� � ��	���
�
�4�
�
�Α���	
 � ����
���� � Α�� � 
�

� � ����
��� � �
���� ��
�8�

� � 
� � �
��	�����

���
�����4 �� � ���
�������
�
� �
� � �
��	������ �
 ����6��
 �Α�� ������
� � 	��� �� �Α�����
�62����4�Α�����Χ������
���Α������
�����
�������
�	�
��
���	6��
���2�������
�
�
���
	�: 
�
����
�������
�4�
�
�������: 
������≅�����
����	����	�Ε,

Ι��	�1�� � 
� � ��� � ��
�
�	� � 
� � ��
����	
 � ����	��
Φ∃4 � ��� � ��Χ � Α�� � 
� � ��0���
��

��
��

�����
������������
��
���
��	������4������	���

���
�	
��
�������
4�
�����6��
��

Α��������Χ�����
�	������
���: 
Φ%4�����	���
�
��������6����	���)����������	���Α������

Ε−�/
���
�������������������4�!�������	��	�����������8
���4�����	���
�
�4�����
�������
���������2������������
�����
�
��
���?����� 
������
���: 
4�#∃∃∃4����%ΦΕ�
ΕΚ�∀�����	�4����%,∃�
Ε,(
�����������	��������	�	����������	�����
���	��: 
�����������
���
�
��
�����
���: 
4�#∃∃Κ4����ΚΚ�
Φ∃�7
�����
����	�

4��
�
������������Α���&������ϑ����	�����4�Ρ��������
	��	��
	8�������ϑ���
������8��ϑ�
���
Ρ��2���
����	
�	����	8�����	
�������
�ϑ�
���ϑ∋�+(����
�
���������
������4�#∃∃−4����%,%.�
Φ%�∗���>�����_���4�9������������������∋����
������∋�:������;����&������	8����
���
�
��
���
�������	Ρ
�Σ��2�
�������ϑ4�#∃%∃4���ΕΓ−Ν��������4�
�����	�



,

	
���������	
��������02��
�Φ#��/��
�	������������4�����&��
�����: 
�
����	���
�
�������

����
�∋�ΦΕ

����
�: 
��
���
����	
������∗��	����2���������������
����	�������������
�8��

�
�≅	��� �

 ��
��
��
��	�	���	��ΦΦ� 7 
����2�� ����
��
��3���� �
� �
�2��
�
� �
� �����
��

8�����4 � 	���
��
 �
� �
�	�
 ������≅��
 ���������� � � � ��	�≅����
 � �
 �8
�����
�
 ���	��

�
�����������4�
�
���	��	��Χ�

��
���

�≅2��Χ�)��6��

�������	��4����
��Α���
��
����	
�
��

��
����	
�� 
���<�������6�����
������Χ�

�
�
������	
�<��≅
��
��6	��
���2��	�ΦΓ�

/����
�
�2����������
����4��
Ρ������
�;��������	���Χ�: 
��6?����

��
����	
�


� � �������
�
�4 � �
� � ��� � �
���Α���	� � 	�����
���: 
 � �� ������	��(�ΦΗ� ��2��

 � 
�

��
����
� � 
� ��	���
�
4 � 
 � 
���	� � � 
 �
��� � ����� � 
 � �
����	
 � 
� ��������
�
� ����� �
��

���6��
��
����
�����
�	
�Α�����	������
�	���1���
���
�	
����	�
�61����
�������:
�Φ−� �4�

���������
��: 
�
��	�������Α�������������	���Χ�: 
�
�
����
����������<��	�ΦΚ���
�	��	
4�


�
���	�

��
����6������	����
����
����
��Α����
���
��9���0������������
�
�4����
�8��

�


�������:
��Α�����	6�
���
�	
����
Α���������
�	�����	
�
���Φ,�

���	���
���4�
���	
����	�������������
�
��

�5���	
�

��
����	
��
������
����
�
����

� � ��� � 
�	
�2� � ���6	�� � ��	���
����Γ∃� � ���	� � �
���4 � ����� � ����

 � �� � �����

 � 
��

����
����
�
��Γ%� �� � Α�� � 
�

� � ��
���
���� � ������ � �
��������Χ�

� � �
� � �����

Φ#��

��2��Χ4�
����	�4����,#�
ΦΕ����
�4����ΚΚ�
ΦΦ� �∀������1���Α�������2����: 
������1�
��	�	���
�����
��	���
�����
����
����	
4��
���?����
����
��Θ�����
��Π������
�
���	�����

���
�������	�2�:;�����������������
���Α�)��	
��
���
����
�������
ΦΓ� ∀����	�4 � �� � ,#� � /� � �
�	���
�	
4 � >���
 � � � �
��

 � 
���
�
�� � ��
�	����	� � 
� � 	���4 � �������

 � Α�� � &��
�
�������
�
��
� ���
����	
 ����	��6	��
 ���� � ��
�� �
�2�	��� � 	
����
� � ��	≅2�
� �
� � ��	����	 ����	
 ���������� ����
����: 
��
���
����	
��8����
���
����ς���Ω�∀���
����	
�
��	��	
�����6��
��
����	����	������	������6	����
��
������4 ���
��: 
 �
� �
����	
� �
� �����
����
�
� �� � 
� � 
����	
� �
� ���
����
�
� � ��	����	����∋ � +<
���	���� �� � ����
�����#��� � �� � ��������� � �
<�
����

 � ��	≅2�
� � 
� � ��
��: 
 � 
� � 
����	
� � 
� � ����
����
�
� � � � �� � ��
�� � 
��
������
�����	
��
����4�#∃∃Κ4���ΦΗ%�.
ΦΗ�∀�����	�4���Κ−Ν�7
�����
����	�

4����Ρ��Σ4����Χ���������ϑ4�
�����	�4���#Ε�
Φ−�∗���Ο��>�����Ο
����
4�4�����������	�∀�∃.54�#∃%∃4����,∃%�
ΦΚΟ
����
4����
�4���Κ,Γ�
Φ,��
Ρ���4�(�����������	���
�����4�#∃∃,4���Κ∃�
Γ∃� Λ�	����	����
������≅	��� �����	���

��
4��
���
����

�������: 
�
���
�
� ���
��� ���
���	����Χ�: 
�

�� <6�
�?��	��	�� ����
�
��
��: 
����� ������≅��� ��������Α���	 
��&��	
�	 � ��Ρ������8�
�� 	���	 �����
��8�

���8����
��2�������	��
���	�2���
������������ϑ1��1��
���	ϑ��

��� ��	 ���
�
��	8��	����
������������	ϑ���
�	8�����������
�����	�����	8�	������Σ�	������������������
����
�	��Ρ
��
�����	�∋�+�������������������=��������������������4�
#∃∃∃4���%Ε%#.� ����∗����4��
��������Χ4�
���������������3�����
�����
����	
�� 
1��	���
������
�������
����	
�
��	���
���� � 
� � �
��� �Α�� ����8��
	)	��
 �
����	
 � 
� � ��
����
�
� � �
��� � � � ��0���� � �������
�
� � �����?���� � 
�
�
����	
 �
��	� ����� �����
1��6���� � <��≅
��� � +���	������� �	� ����������	�	�4� Ι��
� ���
��
 �∗���
 ����	�

�
��Χ��
�4�#∃∃Φ.�
Γ%� &��≅�����
��
�
������������	����
��������������
≅������������6��
��≅����
���������: 
�
�����
���:;�������
���4�
����������+��������������	�.��
������

∋�+���2
�∗�����8
����8�

4�%
�������������	�∋�����������������������

�
��������������
��	��: 
�
����0�����������������
���������	���
�02���4�#∃%∃4���ΕΚ.



%∃

&��
����	6��
�∋Γ#� � Ι��	�1�� � 
� � ��� � �
��� � �����������	� � ��	�������	� � �
 ��

5������

������)	��
� ��
�����
�
���������
�
��
�

��
�����
���:;�� �����
���ΓΕ� �� ����������

�

�������������� �
���	����	� � � � ����Θ����
 ����� ���
����
 �� � ����	�� � ��� ���

�	
4�


	���Χ��

�
���
�����
�	��
��	������
�
�2����
���
�����

���������	��

�������
���

Α���	�������
���������&	��
���
������
∋�

����Σ�	��2ΓΦ��

7�������
�
�4�)�����

�Α���
��
�	�
���
�����
���:;�������
���������	����	�<6�
�
����

86�	���
�ΓΓ4���������
��
����	����	
�

�����6��
���/�	���
����2������
���:;�������

�
2�	���Α����
�	Ρ��������������Χ�

�����������8�������
���� 
����	���������Χ��61�������

����
��
��
�

�����������Χ�

�ΓΗ�����
��: 
�
���
Ρ�����������������&��
����
�
�∋�

�


����	
�9��������
�
���
�������2≅	��
�&�
�	�

�∋4�Α��4������	���
�≅4��

�����
����
���
��
��

��
�

��
��������0�����
�������
�����
�
�4�����
���	���)
�
�
��	������
����
���<�

���4�

��2���

����02����
�������

4���������

��������
��Χ�: 
Γ−��

>��!����
�?��

�����6�����

��?�
�	
4�	��
��
���������
��:;���Α���
��
��	����	���
����6��
1

�)
�
�
����
�����
����
���
���	�

����
�����
���

�����	��
3����������
����	����
��

���
��
��
���
��: 
���2�	����
����������
���≅����
�
����	
�9��������
�
������	���
�
���

/�	��
��
�4�	

����4�Α���� 
����	��	��
���������Θ����4�������Χ�Α��4��������
��	��

����	���Χ�: 
4 ����
�����	� ��
����
�
����	
 �9 ��������
�
� ������	������4 ��������� 
�
��

Γ#��
Ρ���4 ��������4����ΚΗ�����	��
��

�	����������������	���)���
��	���������Χ�: 
�
����20��
��<��≅
��
�4�����������

���
�
�4��
������0������������
�
�4����?����
�
���
?����>
�2����&���?��	3�����
�����������	�������
2�������0�)�
�
��≅��� �
���	� �
���
�������
�
��
�������Χ�������20��
� � <��≅
��
�� 	��

��
�
�
�<�	
�����0���� ��������
�
�� �ς���Ω�
��2�������Χ���
����20��
�������2�����������	������
�������
��
�������
��4�
�	������Χ��4����������2����
�������
�����	
���+
�����	�4����%ΗΗ.�
ΓΕ� &α�������������������������	�ΧΧ���
��
�
�
��������
�����
������
���
���Τ���
���	��������
���	�����
��
�
�
��������	���ΧΧ�	�4������2
�
����������β����2����	���	���ΧΧ�	�4��������	���	��
������
��

�		������8��
���
�	�4�
�����
����������	���	��������
�	�������
��ΧΧ�Χ�
���
�����
���Χ�
��� �χ���	���
��
�
�������ς���Ω��
	�Χ���
������		����
�
22�		��
4�
������
	�Χ��������
�	
�
������
��4�
���������4�
����	����∋�+��������
�α��2��
4����������������4�#∃∃Η4�
���,Η.
ΓΦ��
Ρ���4�
�����	�4���ΚΕ
ΓΓ���	�����?
	
����������>���4���������	������
��	��������������4�#∃∃#4���ΚΗ�
ΓΗ� ��	�������	� � �����? 
 ��

�� ��� � ���	� � � ����	�� �

 � ��	
 �
� �Α��4 � �Α��4 � �
�	Ρ���� �� � �
�Π�4 ��
�� ������� � � � 
�
����
��6������������	��� 
����������������
��

����
��≅
�
���∗
���
����

�
����6	�������
���≅����
�

�
����	
�
���Α���	 
4���������� 
�� 
�
����
���������2��	��	���)��

	�

�
������
����
�
�Β��
����
������	
4�������
�
Ι��?�����α��
�(���
������
�������
�
��������

���
�Π�Β�7
������
������
���
�	�
���

���2��	������	�Π���
�4�
#∃∃Κ�������/�Λ!∗∗�4�7�Ρ	
�Ν����δ∀���ΛΟ∀4��
�����	
�+�

�
�.����������:�������������������	
��<��≅
��
��
�������	����� 
�����
��χ���	����Λ�	��4�#∃∃Κ�
Γ−� 7��	� � ���	�

4 ����8�

� � &∀� �Θ	��� � �����	�

� � 
�	�

� � �	���)� � 
� � ������: 
 � 
�� � �
��� � 	)������ � ���� � 
�
	��	����	
�
��
�

���2��2��4��
���
���2���	�4����
��������9����
���: 
��∀������1��4����
�4�Α���
������	
�
��
���
�	5�����
��	��
�≅������	�����
6�������
����
�
������	������	��9Α��������
���: 
�Α����������
��9�����
�����
���
���: 
�����
���∋�+
����	����Ε#.�



%%

�
�	�
��ΓΚ� � ���
� � Α�� � � 
 � �� � ����	� � �� � 
����2�� � ���
���:;�� � ≅�	���� � �� � ��	����	4�

������	�1��������	���������?���	�	������Χ
6���Γ,�Α���
������ 
������:��������
�

7 
 � 
��	��	� � 
� � �≅����
� � �
��3�	���
� � 
� � ��6����� � �
����: 
 � 2���5���� � 
��

�������
�
� � 	�����
�����≅

 ����	����8
4 �� 
���� <��	�������� �������
�: 
�

����
��

+�
������<��≅
��
.��
���
�

�9��������
�
������	���
�
���/�	��
������: 
�

���≅����
��


��
����
�����<�	���
�
��
����������
�4�
����<�4�
��������	

�	������: 
����
���	����

��
���
����Α�����	������������
�
��

���
����	
��Α�����	�2�����
�����������
�
�Η∃� ��

���	���
��������
���?���	�	������Χ
6����
�����8
��
�����/��Θ�	������6����4���
�����6��
�

	���
�������
�����
�
�������
�������
�Α����
���
���������

�
��≅�	��
�

��	
�)4��
�	�

4�Α�����
������ 
�
������	���������
�5���	
����
3���
��������2���

�
��:;�����6	����������
�����
���≅����
���������
����	

�	������: 
����
���	��������	��

�
������
��Α����������	���

���	�� � ��	��4 � ������	��
� � � � ��
�
: 
 � 
� � �
�≅	���� � �Θ������ � 
� � �
���: 
 � 

��

���6��
��
����
�Η%4�������������
�������<
����4�
���
�������
������	�Χ61�
��
����
�
��


�������
����	
����

������
��
������������?�
��: 
�
�����
���:;�������
�������Ρ����

�
�≅	���� � Α�� � ����Α��� � �� � ��
����
 � �
���	��
 � Α�� � ����Α�� � 
 � 5���	
 � �������� � ��

���
���Η#4�����������

��
�<
����
���
�	
�������������

������	
����4���	��	��	
4����
�1

�8�� � �
�
�	�� � )	����� � ��	
 � 	
����6 � 
��������6��� � � ���	�����: 
 � 
� � �������
�
� � �
�
�


����	
��?����������	��� 
1��	���
�����
���	)�����
���������: 
�
������	�	���������ΗΕ�

�����Α����������
����<��
���
����	���
�8���

����
������

��
�������	��

7������6��
����Α������������: 
�
�����
���:;������
6�
���
�������
�	����	��

�6��
���������ΧΗΦ4�	
���1���������6��
4������������	��9����
�
����
���	����4�������������

�
�����
���
�	�
���
��	�����?
����
���	��
4�������������	���
�������
	�������
�
��
�4�

ΓΚ��
�
��4�
����	�4����%,Κ�
Γ,�∗���Λ���ϑ��
Ρ���4�(�����������	���
�����4����%∃ΕΝ��������(���
�
��4�(����
�
���������
������4����%,%�Ν���
(������α
Ρ��4 �3�
��&������ ����∋ �����������&�� �������� �����ϑΧ��2�α

2����	���	 �⊥��Ρ���
� 	8����28	 � 	
�
������ϑ4��#∃∃,1%∃4����ΦΚ#�
Η∃��	)���
��


	9���������������������
�
���
�
�
�
����	
�Α���	���
���
��≅
�
�
��&
����	
�
�����	���
��
�	�
���
�
��� ��� ���0����� � ���
���:;�� � � �
� �
�	������� ��� ��

���
�
�� �
� � �
��	��: 
 �
� ���0���� � ������ ������
�∋4�
���
?����

1��4 ��
�	��	
4 �

��
����	
 �
����	

�	������: 
 � ���
���	��� �+�∀�∀Ιε4��	����
� �Ι���
�
2�� � ��

���		���>
�
2������������
4�%,,Γ4����
��∀7/��4������
� �����������	�	��/����������	���	�	�������������
�(�����
���4�#∃∃Η4���,∃.
Η%��
�
��4�
�����	�����%,Η�
Η#����
�4���#∃Φ�
ΗΕ��

�≅2��Χ4�
����	�4���%ΕΓ�
ΗΦ����8�

4�
�����	�4����Ε#�



%#

��)��
�������:���9��������
�
�4��������
��
��
����ΗΓ������?����
�
��
��������: 
�
��

�����2����
��0
�
4�������
����
��
�
�	
���
��Χ��	��

7
�����4 ������

�9�
	���Χ�: 
 �
� ��
��: 
 �
���
����	
�4 �
 ������	
 ����2���
�
�

��2���

� � ������6��
 � ���� � �
���	�� � ��� � ���
�����: 
 � 

 � <�
���6��
ΗΗ4 � ��� � �
�
�

	��	�	���� � ��	����	���� � ��
�������� ����� � � � �
��: 
 �

� ��
����	
� � ���2�

� � ���5���	
�

���	���4 � �� � �������� � � � ��
��: 
 � � � ����	��2�� � � � ���
� � ��������	�� � �
� � ��≅��� � ���


�����
������	
�

����
�����	��
���Α���
��	��	�	����
���������	�������2���
�������)����
�	���
��

����
� � 
��
����	�� � 
� � ��	

�	������: 
 � ���
���	��� � ����	� � 9� � �
��� � 	���
�
2���4�

�������
�����������
�
��
��
�����
���2�����	
��
�
���	�4���<��
����
���
���
��	��	��

�	����Χ�: 
�+��	
���

�����≅2����4�&��	������
�����
��: 
�)�����	�����	����∋.�)������?
�
��

��� � ��0���
 � 
�<�	
� � 	���
�
2��� � � � ����:;�� � �
����� � �� � ����
 � 
�����
������	
 � ��

�
��	��	����
��: 
4�������	������
�
����
�	������
������
2�	6�����

ΗΓ�∗�����	
��
�(��Α������
���Χ���

4�≅��������
	���������������	����������4����	�∋�#∃∃,�
ΗΗ����?����
�

�Α���
�������������
���������
������<��	�:����
���
����
����/���
�����
���: 
4�&�����
��: 
�
��
�
����	
��
����
�����
��
���	��: 
������
������Α���

��Α����
�����	
�
�����	������
�
��
����	�������������	���

�����ς���Ω������������
�
���
���������	���
�
��

���
�����	
�<����
���
���������	����������/�
����	������
��������
������
�:��������������
�
���)	


����
��
����	��������������
��: 
�
���
����	
���
���3�	���
��∋�+!��	
����
�����Α�	��	�������������Α
	������� ��������
����
�
��

��?���≅��
�<����
���
������	���
�	���
������
����

�
��
����
4����ΦΓ1ΦΚ�.



%Ε

9�9���Β�%0�%

�Λ⊥/�������Λ⊥�4�����
�/
���

��!��	
���������Α�	��	�������������Α
	���������������
����
�
��

�
�?���≅��
�<����
���
������	���
�	���
������
����

���
����
��Ι����+�
�	
��

.��������
�
��
�������	
�
��
� 
�����
4�!�������
�
��
��� 
�����
4�� 
�����
4�#∃∃Γ�

�Ξ/⊥/�∀4���	
��
�(��Α������
���≅��������
	���������������	����������4����	���� 
�����
���������4�
#∃∃,�

>��7/�4�������>����������ϑ�����

?���
�������	Ρ
�Σ��2����	8��!��	�
��	�	����0�����Χ��	��4��
���%%4�
��,4���	��#∃∃Η������
�≅�������Ψ�8		��ΖΖ����	�
�
�ϑ�
�2Ζ������Ζ�����%%φ,Ζ������Ζ��
�?�8	��[� ������
�����
%%1∃,1#∃%∃�

>���∀4������	���Ν ��∀Λ��∀4 �����≅��
� � (����
�: 
 ��� ��� � �����6��� ��� � ��	����	� � �
<�
����

� ��	≅2�
� �
��
��
��: 
 �
��
����	
��
������
����
�
� ��������
�� �
��������
�����	
��
����� ���� ��/�Λ!∗∗�4�7�Ρ	
�Ν�
���δ∀���ΛΟ∀4��
�����	
�+�

�
�.� ���������:������������� ������	
��<��≅
��
���������	��� �� 
�����
��
χ���	����Λ�	��4�#∃∃Κ�

>�!��74 �Ξϑ2���	� �%��� � �∆Ε
�	�� � �
��� � � � ���2���
�
� � 

� � ��:
� � 8����
�� �Ι��
� �∗���
� ������	
�
��
���
�����
�
��(�����
��(
�2��Ξ�8��4�#∃∃Φ�

>�ΙΙ��4�∗���
�������	
��������������	��4��������	�	�����
�
��(�����
���
������!�������	6���4�%,,Γ�

φφφφφ��Χ���	�������	�����Ε
����Α
�∆	������	�
��������6	����
���
�
2�����������
������
��
�������	
��� 
�
����
���������4�#∃∃−�

>Λ!�4���	�����?
	
�������������������	������
��	����������������� 
�����
��χ���	����Λ�	��4�#∃∃#�

>∀�α/�4��
?����∗��

�
�>��������
� ����������	��4��������	�	����%
��������4����	�� �� 
�����
��
�������4�#∃∃−�

>!���Ο4��ϑ�������	8�������
�����2��������������
2��	�
����
�	8��Λ���	��
��������ϑ�Λ�Ρ��
�����	�����

������4�∗�����
2�4��
���%#∃4����
�
��#∃∃−������
�≅�������
Ψ8		��ΖΖΡΡΡ�8�����
��Ρ�����Ρ�
�2Ζ������Ζ%#∃Ζ��ϑ∃−Ζ�
	��Ζ������φ���
2��	�
�φ������ϑφ��Ρ��
�[��
�����
�����%∃1∃,1#∃%∃�

∗��/Λ∀��/��∀!Ξ�4������
����	8�⊥������?
������������Β�����	��4��������	�	���∗
�������∗
������
/
�	
��4�%,,Γ�

∗∀�Ι��(��4 �����
�(
�)�
�� �����������	��6�����1 � � 	�	��� ������ �
�� ��	���
�
�� �� 
�����
Ν �/
�	
���
�����	��

��Ι��������4�%,−∃�

�/�∗!���4��
����
�����	��������	�����������	�	���Ι��
����
��
�∗���
����	�

���Χ��
���∗���������
�
����4�#∃∃Φ�

�/�������4�/
���
���������� �!�������	��������������8
���4�����	���
�
�4�����
�������
���������2���
��������������
�
��
���?����� 
������
���: 
��#��
���
�	
����2�������2�
���	
��
���������
�	
�4�#∃∃∃�

�/Λα��∀4�Λ����
�
����
��
� �����������
�	�������������������� ��	��	����� ���
��
� ��ϑΣ���
�4�
#∃∃Φ�

�∀7/��4������
� �%�4������	�	��/����������	���	�	������������ �Ι����+�
�	
��

.� ������
�
� �
��
�����	
�
��!�������
�
��/�	�
����

���
�
��(�����
4����
�
��(�����
4�#∃∃Η��

�∀=7/�4�Λ���ϑ� �(���������������
�������8��������2�	8����Ρ��
�����	8�	�2
������������
�������������
	8��
�2�	����2���7
���γ
�Σ��>�����>

Σ�4�#∃∃,�

α�Λα�7∀4���������
����������4����������

����∗/���4�#∃∃Η�

α�∗∀ �(!7�∀�4 � ��
 �Ι��?����� �����
�������
�
� �∗���� � 

� ��
�Π�Β� 7
���� ��
����� �
� �∗
�	�
�� � 

��
�2��	���/��	�Π���
��������/�Λ!∗∗�4�7�Ρ	
�Ν����δ∀���ΛΟ∀4��
�����	
�+�

�
�.����������:����������

���������	
��<��≅
��
���������	����� 
�����
��χ���	����Λ�	��4�#∃∃Κ�

Ο∀ΛΛ�7�4 �Ο� �>����� �������ϑ�����

? �#�∃� �2�	���������<�
����4 ��
�� �%,4 ���Κ,Ε1,Ε#4 ����� �#∃%∃��
����
�≅��������Ψ8		��ΖΖ������
�Ζ���	���	η%ΓΚΦΦΦΕ[�������
�����#∃1∃,1#∃%∃�

_�7/4 � >����� �>�������2 � ��
�ϑ��	ϑ4 � �
������	ϑ4 �  � ����
1∗������	ϑ� � Ι8� � ∗�
���
�
� � 
� � �
�����
7�	Ρ
�Σ��2��������ϑ4�_���4�>������%�&��������<�
��������1�������:�(���������4��
���#∃4���#4�#∃%∃��
����
�≅��������Ψ�8		��ΖΖ8���
������
�2[�������
�����∃Η1∃,1#∃%∃�



%Φ

Λ/∀7����4�������� �(
�����	���������	�	���������������Ι����+�
�	
��

.��������
�
��
�������	
�
��
� 
�����
4�!�������
�
��
��� 
�����
4�� 
�����
4�#∃∃,�

Λ/���α4 �Λ�Ρ������ �0
�
�� ��� � �	���� � 	8� � ��	� �
� � 	8� � �
��
�� � �� � � � �
����	�
 �Ρ
��
� �7
�� �γ
�Σ��
���

��Ο
���4�#∃∃%������
�≅��������Ψ�8		��ΖΖΡΡΡ�	8�1��	���1
�1�
�����
�[�������
�����∃Η1∃,1#∃%∃�

Λ�Ι��74�(�����������
���	�
��������ϑΖ���
���	�
����
���	ϑ� �1������	�����������4��
���Γ#4����
�
��
#∃∃∃������
�≅��������8		��ΖΖ������
�Ζ���	���	η#%ΚΗ∃,�������
�����∃Η1∃,1#∃%∃�

��∗Ο��∀4����2
�∗�����8
����	
�
���������
�4��
����	����	
����
��
�8����
����������
��	��: 
�
��
��0�����������������
���������	���
�02�������������(����������	����������!����4���
�
��(�����
4���Ε−4��%−1
Γ#���<��Ζ�����#∃%∃�

���=�∗_4�������/�Ν����Ξ4����2
����2��Ν���Λ��/γ4�(
8���γ
�	84�������ϑ4���
�����	�	�
���4
&����
����:�������(������2��∗����4�����1������Φ
�����	�Γ����������4�∗�����
2�4���������]�%∃1#,4�<����

��#∃%∃������
�≅��������Ψ8		��ΖΖ������
�Ζ���	���	η%ΓΚΚ%ΗΕ[�������
�����%Ε1∃,1#∃%∃�

��Ι/ΛΛ�7/���∀��ια!/Ξ4�7������∗
�	�?	
����������
����
�����������0��
�����	������
����
��6	��
��
��������9����������	��!�Η������!��������4�� 
�����
4���ΚΦ4���%%%1%ΕΚ4�<����#∃%∃�

�∗α∀=/74�(�����γ
���>
���2�Λ���4�7
Ρ�����������∀�����������ϑΧ��2�α

2����	���	�⊥��Ρ���
�	8��
��28	 � 	
 � ������ϑ� �(�∀�� � 2������� � ��� � ������4 � �
�� � %Η4 � #∃∃,1#∃%∃� � ����
�≅��� � ����
Ψ8		��ΖΖ8���
������
�2Ζ[�������
�����∃Η1∃,1#∃%∃�

�!��ΛΛ∀ ��/ � Λ� �∗!/⊥�4 � ����
 � Λ����� �6� � 	������ � � � �� � �
��	���������� � � ������������ � ���
��
	����0��
���
��
�	
������
����������	�������
�
��������
��6	�������
��
��Ι���
�4�%,,∃�

7!7/�4���ΧΧ�		
� �Χ��
���	�������������Α
�∆	�������
�
������Χ�������
�
2�����4�����
�����	�: 
4�
����	�����Η��
��� 
�����
���������4�#∃∃Κ�

�/�/Ξ�Λ!ϕ∀4���	
��
�/���������������0
�	�����������Η��
����
��
��Ι���
�4�%,,Γ�

�∀7Ι/���/�����7����(����	��	����������4����	���Ι
�
�−���	����Χ�: 
��⊥���
���

��2�����������
∗���������>

Σ������4�#∃∃∃�

�∀��ια!/Ξ4�⊥��	
��α��������(
�����4�����	��������	�	����������	�����
���	��: 
�����������
���
�
��

�����
���: 
��� 
�����
���	���4�#∃∃Κ�

�!>/7�/Λ�4�(�
��Ι8��/�
�
��������ϑ��1������	�����������4��	���
�
4��
���Η%4�
�	��#∃∃Κ������
�≅����
����Ψ�&&&���
���
	�
&
����&��
�;�(����;�����;

������;<�������	��	��[�������
�����∃Η1∃,1#∃%∃�

�!�Ξ���α!/Λ4�∗���
������������
���� ���������
�������	���	������������������	�	����
��
��Ι���
�4�
%,,Γ�

�/��Λ�4 ��
�� ��
 �Ρ� �8��� � 	
 � &	��
� �
��∋ �������ϑΒ � ��� ���� �1���� �2�&���4 �Ο�����
 �Λ�Ρ ���8

�4�
∗�����
2�4 � ��	� � #∃%∃� �����
�≅��� � ��� � Ψ8		��ΖΖ��
2����Ρ�8�����
��
�Ζ���Ζ#∃%∃Ζ∃,Ζ%,Ζ

1Ρ�18���1	
1
	��
�1
��1������ϑ[�������
�����##1∃,1#∃%∃�

�∀Λ∀⊥/4 ������� � (� �(���0
�
�� ��� ����
������� �α
����4 ����
�4 ���
�������ϑ�
�� 	8� ���	����	� �γ����
!�������	ϑ������4�#∃∃−������
�≅��������Ψ�8		��ΖΖ������
�Ζ���	���	η%∃%,%−−[�������
�����∃Κ1∃,1#∃%∃�

�Ξ�7��=�_�4 � /������ ��������� � 	� � ���������	�	� � � � �
� � �
����� � � 
 � ����
� � /
�	
�� � �����	� � 

��
Ι��������4�#∃∃Γ�

Ι�7��ΛΛ4 �∗���2������2����������Ι8��∗
���������Χ�	�
��
������
�������
���	�
�� �<�
�����������∋�
(��������� � : � 4����� � ΦΓ��������� � �� � ���������4 � ∗8�����2�4 � %κ � �
�4 � ����� �#∃∃Ε� �����
�≅��� � ����
Ψ8		��ΖΖ8���
������
�2[�������
�����∃Κ1∃,1#∃%∃�

Ξ�!Ογ���ΛΟ∀4 �=���
�� �%����������	��	������ �/��������	�	��/� �
−�	�� ������#����� �
�
����	
 ��
�
Ο��������	���������
�
�����
��6	��������	

�	������: 
�
��
�

���������	�: 
�+���	��

.���������
�
��

�������	
�
��� 
�����
4�!�������
�
��
��� 
�����
4�� 
�����
4�#∃∃%�

Ξ�ΙΙ���74�(��Λ��(���0
�
�����������������������
�8
Ρ�	
��	
���	��γ����!�������	ϑ������4�#∃∃Κ�


